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5Bk ik (B 5Bk

[1 B FE2KkE] 120,843 (m) ([18 F1i%KkE] 72,685 (m) |[1H F 5%k E] 26,690 ()

AKiEHOK AKiEHOK AKiEHOK

= =K Ty Bk == =K Ty 1%k = &I Ty 1%

TOFEVRUZDILEY <0.0010 1 <0.0010 1 <0.0010 1
DIVRUEDILEY <0.0002 1 <0.0002 1 <0.0002 1
29TV RUEDILE <0.001 <0.001 <0.001 5 0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5
1,2—YHONIAY <0.0001 1 <0.0001 1 <0.0001 1
LIV <0.000 1 <0.000 1 <0.000 1
TRIVEES 2—IFIAFVIL) <0.001 1 <0.001 1 <0.001 1
HIERE <0.06 <0.06 <0.06 5 <0.06 <0.06 <0.06 5 <0.06 <0.06 <0.06 5
ZEibiE R
Jhoo7e b= bk <0.001 <0.001 <0.001 5 0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5
#kHo5-Ib <0.001 <0.001 <0.001 5 0.005 <0.001 0.002 5 <0.001 <0.001 <0.001 5
BEE <0.01 <0.01 <0.01 6 <0.01 <0.01 <0.01 10 <0.01 <0.01 <0.01 6
BREIEHR 0.7 0.3 0.5 365 0.7 0.4 0.5 365 0.8 0.4 0.6 365
it 735 5.2 1.7 39 12 40 1.1 26 12 8.1 3.1 46 12
1,1,1—M)HonIaY <0.000 1 <0.000 1 <0.000 1
AFI—t—TFII—TIL(MTBE) <0.000 1 <0.000 1 <0.000 1
AHMECBIVHVEENIVLEEE) 1.7 0.6 1.1 365 25 0.9 15 365 16 <0.5 1.0 365
R5GAE (TON) 1 1 1 365 1 1 1 365 1 1 1 365
EREGYTUTIEER) -1.1 -16 -1.3 12 -0.9 -15 -1.2 12 -1.1 -1.4 -12 12
HEXEMRR 2 0 0 12 0 0 0 12 1 0 0 12
1,1—=YHOAIFLy <0.0001 1 <0.0001 1 <0.0001 1
KR (°C) 284 5.7 17.3 365 29.4 5.1 17.3 365 293 50 17.3 365
PUEITREER
EYLFRIEERERE(BOD)
LB R ERE(COD)
LA R (UV)IR S BE(50mm T2 )L {5 F B ) 0.080 0.019 0.051 52 0.069 0.032 0.051 52 0.058 0.014 0.034 52
FAEME(SS)
(o3 gkd i 3040
L2ER
EDV
VIBRAAY
FINOARY £ B RE
£ (n/ml)
PIHIE 62.1 498 54.3 12 60.0 34.7 457 12 61.0 524 55.2 12
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(1 BE¥%KE] 6,381 (m) |[1BF9%KE] 31,093 (m) |[1BFHFEKE] 29,702 (m)
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= =K Ty E1%k == =K Ty E1%k = &I Ty 1%

TOFEVRUZDILEY <0.0010 1 <0.0010 1 <0.0010 1
DIVRUEDILEY <0.0002 1 <0.0002 1 <0.0002 1
29TV RUEDILE <0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5 0.001 <0.001 <0.001 5
1,2—YHONIAY <0.0001 1 <0.0001 1 <0.0001 1
LIV <0.000 1 <0.000 1 <0.000 1
TRIVEES 2—IFIAFVIL) <0.001 1 <0.001 1 <0.001 1
HIERE <0.06 <0.06 <0.06 5 <0.06 <0.06 <0.06 5 <0.06 <0.06 <0.06 5
ZEibiE R
Jhoo7e b= bk <0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5
#kHo5-Ib <0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5
BEE <0.01 <0.01 <0.01 6 <0.01 <0.01 <0.01 6 <0.01 <0.01 <0.01 10
BREIEHR 0.6 0.3 0.5 365 0.7 0.4 0.5 365 0.7 0.3 0.5 365
it 735 7.7 3.2 5.2 12 8.9 40 71 12 6.6 4.4 5.3 12
1,1,1—M)HonIaY <0.000 1 <0.000 1 <0.000 1
AFI—t—TFII—TIL(MTBE) <0.000 1 <0.000 1 <0.000 1
AHMECBIVHVEENIVLEEE) 2.6 <0.5 1.3 365 16 <0.5 0.9 365 16 0.5 1.1 365
R5GAE (TON) 1 1 1 365 1 1 1 365 1 1 1 365
EREGYTUTIEER) -0.9 -15 -1.3 12 -1.0 -15 -1.4 12 -1.0 -1.7 -13 12
HEXEMRR 0 0 0 12 0 0 0 12 2 0 0 12
1,1—ybonIFlby <0.0001 1 <0.0001 1 <0.0001 1
KR (°C) 30.9 5.1 17.9 365 30.4 6.8 18.3 365 29.4 58 17.6 365
PUEITREER
EYLFRIEERERE(BOD)
LB R ERE(COD)
LA R (UV)IR S BE(50mm T2 )L {5 F B ) 0.104 0.006 0.048 52 0.055 0.015 0.036 51 0.050 0.029 0.040 52
FAEME(SS)
(o3 gkd i 3040
L2ER
EDV
VIBRAAY
FINOARY £ B RE
£ (n/ml)
PIHIE 58.0 48.9 52.7 12 58.8 48.9 53.7 12 50.1 332 427 12
BEBR
il S
BT
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[k DFELE] [k DFELE] [k DFELE]

HRiBK HRBK =K (BiR)

(1 BE¥%KE] 41,528 (m) |[1BFHFEKE] 19,924 (m) |[1BF5KE] 16,673 (m)

AKiEHOK AKiEHOK AKiEHOK

= =K Ty E1%k == =K Ty E1%k = &I Ty 1%

TOFEVRUZDILEY <0.0010 1 <0.0010 1 <0.0010 1
DIVRUEDILEY <0.0002 1 <0.0002 1 <0.0002 1
29TV RUEDILE <0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5
1,2—9bOnIsy <0.0001 1 <0.0001 1 <0.0001 1
LIV <0.000 1 <0.000 1 <0.000 1
TRIVEES 2—IFIAFVIL) <0.001 1 <0.001 1 <0.001 1
HIERE <0.06 <0.06 <0.06 5 <0.06 <0.06 <0.06 5 <0.06 <0.06 <0.06 5
ZEibiE R
Jhoo7e b= bk <0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5
#kHo5-Ib <0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5 <0.001 <0.001 <0.001 5
BEE <0.01 <0.01 <0.01 6 <0.01 <0.01 <0.01 6 <0.01 <0.01 <0.01 10
BREIEHR 0.8 0.4 0.6 365 0.8 0.4 0.6 365 0.9 0.5 0.7 365
it 735 10.6 78 9.2 12 79 5.7 71 12 5.4 23 39 12
1,1,1—M)HonIaY <0.000 1 <0.000 1 <0.000 1
AFI—t—TFII—TIL(MTBE) <0.000 1 <0.000 1 <0.000 1
AHMECBIVHVEENIVLEEE) 15 0.6 0.9 365 2.2 05 1.1 365 1.4 <0.5 0.6 365
R5GAE (TON) 1 1 1 365 1 1 1 365 1 1 1 365
EREGYTUTIEER) -1.2 -1.8 -15 12 -1.0 -1.8 -1.3 12 -1.2 -1.9 -16 12
HEXEMRR 2 0 0 12 1 0 0 12 2 0 0 12
1,1—ybonIFlby <0.0001 1 <0.0001 1 <0.0001 1
KR (°C) 286 5.3 17.3 365 29.1 5.2 17.4 365 283 46 16.4 365
PUEITREER
EYLFRIEERERE(BOD)
LB R ERE(COD)
LA R (UV)IR S BE(50mm T2 )L {5 F B ) 0.064 0.010 0.032 52 0.072 0.009 0.032 52 0.050 0.016 0.028 53
FAEME(SS)
(o3 gkd i 3040
L2ER
EDV
VIBRAAY
FINOARY £ B RE
£ (n/ml)
PIHIE 67.8 475 56.6 12 77.7 53.2 63.2 12 477 305 36.3 12
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TOFEVRUZDILEY <0.0010 1

DIVRUEDILEY <0.0002 1

2TV RUEDIEEY <0.001 <0.001 <0.001 5

1,2—9bOnIsy <0.0001 1

LIV <0.000 1

TRIVEES 2—IFIAFVIL) <0.001 1

HiIE R <0.06 <0.06 <0.06 5

ZEibiE R

Jhoo7e b= bk <0.001 <0.001 <0.001 5

fakoas- 0.004 <0.001 0.002 5

BEE <0.01 <0.01 <0.01 10

RRIER 1.2 05 0.8 365

Pt 3o 40 18 2.6 12

1,1,1—M)HonIaY <0.000 1

AFI—t—TFII—TIL(MTBE) <0.000 1

AHMECBIVHVEENIVLEEE) 15 05 0.9 365

R5GAE (TON) 1 1 1 365

EREGYTUTIEER) -1.2 -1.7 -14 12

HEXEMRR 2 0 0 12

1,1—ybonIFlby <0.0001 1

JKiE (°C) 273 6.5 16.8 365

PUEITREER

EYILFHIEERERE(BOD)

{LZ B R ERE(COD)

SEIMRUV)IR S EE(50mmt )L (5 FRBY) 0.045 0.021 0.034 52

FAEME(SS)
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L2ER

DV

VIBRAAY
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